SOLUTION

Thirteen if by Big Rig by Kevin Wald

Each of the clued answers contains a
palindromic sequence of five letters (for the Big,
Big Entries) or seven letters (for the Big, Big, Big
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Entries); the answers are:

Big, Big Entries: KILOMOLE; WORKROOM;
FELICITATION; TOO SOON; BRIDE-BEDS;
PELTLESS; APOCOPE; RELEVELING;

COAL PLANT; TENSENESS; DIVISIVE,; C
OVEREXERTS; BEE GEES.
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Big, Big, Big Entries: MONOTONOUS;
MAKE NO BONES; PARSON’S NOSE; T
THREE-MILE LIMIT; CREME DE MENTHE;
MISSISSIPPL; NOT-FOR- PROFIT;
ABSENTNESS; POSSESSOR; T
CONESTOGA WAGON; VENI, VIDI, VICI;
INTERPRETS; MOBILE LIBRARIES;
PACIFIC ARENA.
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When each answer is entered in the grid, the

palindromic sequence reads up and down, with

its first/last letter in the main row, the second/
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next-to-last letter in the row above, and so on. M

The “raised letters” from one word are then

copied, as indicated by the numbers, into boxes

higher up in the grid; thus, the already-given

letters allow you to place the Big, Big, Big
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Entries, the raised letters from those entries

allow you to place nine of the Big, Big Entries,
and the raised letters from those entries allow

you to place the last four Big, Big Entries.
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Finally, the raised letters from those last entries A B
supply the eight unraised letters (EGOMPLEX)
of the unclued entry at the top of the grid, whose

one raised letter is the C already given; this

entry is the answer, EGO COMPLEX. ViEN
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